Instructions on how to use a Vernier Caliper
· Close the jaws tightly on the object to be measured.
· Use the bottom scale on the vernier calipers. This scale is in metric units.
· There is a fixed scale and a sliding scale.
· On the sliding scale: the left-most tick mark will let you read from the fixed scale the number of whole millimeters that the jaws are opened.
· Below is an example on how to use the Vernier Calipers.

· The left-most tick mark on the sliding scale lies between 11mm and 12mm, thus the number of whole millimeters is 11mm.
· Search on the sliding scale for the aligned mark. This tells you about the number of tenths of millimeters. In the above example the 3rd tick is aligned thus the reading is (11.30
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0.05) mm.
· In case the reading happens to be a nice number like 3 cm, do not forget to include the zero decimal places showing the measurement precision and the error on the measurement.(3.000
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0.005) cm or (30.00
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0.05) mm. 
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